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Chapter 3 53 Glencoe Geometry

3 SCORE 

Write the letter for the correct answer in the blank at the right of each question.

For Questions 1 and 2, refer to the figure at the right.

 1. Identify the plane parallel to plane ACE.
 A plane ABG   C plane EFK
 B plane BCH   D plane GJF

 2. Which segment is skew to   −− JK   ?
 F −− AB    H −−−

 JH 
 G −−−

 CD    J −−−
 GF 

For Questions 3–10, refer to the figure at the right. 
Identify the special name for each angle pair.

 3. ∠1 and ∠5
 A alternate exterior   C consecutive interior
 B alternate interior   D corresponding

 4. ∠10 and ∠14
 F alternate exterior   H consecutive interior
 G alternate interior   J corresponding

 5. Given s ∥ t and m∠7 = 84, find m∠10.
 A 6 B 84 C 96 D 104

 6. Given s ∥ t and m∠1 = 8x - 4 and m∠15 = 6x + 24, find the value of x.
 F -10 G 14 H 20 J 28

 7. Given ∠6 $ ∠12, which postulate or theorem justifies that s ∥ t?
 A Corresponding Angles Postulate
 B Consecutive Interior Angles Theorem
 C Alternate Exterior Angles Theorem
 D Alternate Interior Angles Theorem

 8. If ∠8 $ ∠16, which postulate or theorem justifies that s ∥ t?
 F Corresponding Angles Postulate
 G Consecutive Interior Angles Theorem
 H Alternate Exterior Angles Theorem
 J Alternate Interior Angles Theorem

 9. If s ∥ t by the Alternate Exterior Angles Theorem, which angle pair must 
be congruent?

 A ∠1 and ∠7 B ∠1 and ∠5 C ∠1 and ∠15 D ∠1 and ∠13

 10. If m∠6 = 10x - 6 and m∠11 = 4x + 18, find the value of x so that s ∥ t.
 F 2 G 4 H 12 J 32
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3

Write an equation in slope-intercept form for the line that 
satisfies the given conditions.

 15. m = -9, y-intercept = 3

 16. m = 3, contains (-1, 5)

 17. x-intercept is 3, y-intercept is -1

 18. A group of students start a music club at their school. At 
the club’s first meeting, 5 members sign up. Twelve days 
later, the club has a total of 23 members. If membership 
increases at the same rate, how many members are 
in the club thirty days after its first meeting?

For Questions 19–21, given the following  
information, determine which lines, if 
any, are parallel. State the postulate 
or theorem that justifies your answer.

 19. ∠1 " ∠2

 20. ∠DAB " ∠EBC

 21. m∠ADE + m∠BED = 180

 22. Find the value of x so that a ∥ b

For Questions 23 and 24, find the distance between each 
pair of parallel lines.

 23. y = x - 6 and y = x + 8

24. y = -2x + 10 and y = -2x - 5

 25. Construct a line perpendicular to ℓ through B(-2, 5). Then 
find the distance from B to ℓ.

Bonus  Draw and label a figure you could use to prove the 
theorem If two lines in a plane are cut by a transversal so 
that a pair of consecutive interior angles is supplementary, 
then the lines are parallel. State the given and the 
statement to be proved.

a

b

(9x - 44)°

(6x + 10)°

1
A

B

C F

E

D

2

 15.

 16.

 17.

 18.

 19.

 20.

 21.

 22.

 23.

 24.

 25.

B:

x

y

O

ℓ

Chapter 3 Test, Form 2C (continued)
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Chapter 3 53 Glencoe Geometry

3 SCORE 

Write the letter for the correct answer in the blank at the right of each question.

For Questions 1 and 2, refer to the figure at the right.

 1. Identify the plane parallel to plane ACE.
 A plane ABG   C plane EFK
 B plane BCH   D plane GJF

 2. Which segment is skew to   −− JK   ?
 F −− AB    H −−−

 JH 
 G −−−

 CD    J −−−
 GF 

For Questions 3–10, refer to the figure at the right. 
Identify the special name for each angle pair.

 3. ∠1 and ∠5
 A alternate exterior   C consecutive interior
 B alternate interior   D corresponding

 4. ∠10 and ∠14
 F alternate exterior   H consecutive interior
 G alternate interior   J corresponding

 5. Given s ∥ t and m∠7 = 84, find m∠10.
 A 6 B 84 C 96 D 104

 6. Given s ∥ t and m∠1 = 8x - 4 and m∠15 = 6x + 24, find the value of x.
 F -10 G 14 H 20 J 28

 7. Given ∠6 $ ∠12, which postulate or theorem justifies that s ∥ t?
 A Corresponding Angles Postulate
 B Consecutive Interior Angles Theorem
 C Alternate Exterior Angles Theorem
 D Alternate Interior Angles Theorem

 8. If ∠8 $ ∠16, which postulate or theorem justifies that s ∥ t?
 F Corresponding Angles Postulate
 G Consecutive Interior Angles Theorem
 H Alternate Exterior Angles Theorem
 J Alternate Interior Angles Theorem

 9. If s ∥ t by the Alternate Exterior Angles Theorem, which angle pair must 
be congruent?

 A ∠1 and ∠7 B ∠1 and ∠5 C ∠1 and ∠15 D ∠1 and ∠13

 10. If m∠6 = 10x - 6 and m∠11 = 4x + 18, find the value of x so that s ∥ t.
 F 2 G 4 H 12 J 32

a b
s

t

1 2 3 4
6 578

9 10 11
13141516
12

B

A
E

F

K

J

C H

GD
 1.

 2.

 3.

 4.

 5.

 6.

 7.

 8.

 9.

 10.
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Chapter 3 53 Glencoe Geometry

3 SCORE 

Write the letter for the correct answer in the blank at the right of each question.

For Questions 1 and 2, refer to the figure at the right.

 1. Identify the plane parallel to plane ACE.
 A plane ABG   C plane EFK
 B plane BCH   D plane GJF

 2. Which segment is skew to   −− JK   ?
 F −− AB    H −−−

 JH 
 G −−−

 CD    J −−−
 GF 

For Questions 3–10, refer to the figure at the right. 
Identify the special name for each angle pair.

 3. ∠1 and ∠5
 A alternate exterior   C consecutive interior
 B alternate interior   D corresponding

 4. ∠10 and ∠14
 F alternate exterior   H consecutive interior
 G alternate interior   J corresponding

 5. Given s ∥ t and m∠7 = 84, find m∠10.
 A 6 B 84 C 96 D 104

 6. Given s ∥ t and m∠1 = 8x - 4 and m∠15 = 6x + 24, find the value of x.
 F -10 G 14 H 20 J 28

 7. Given ∠6 $ ∠12, which postulate or theorem justifies that s ∥ t?
 A Corresponding Angles Postulate
 B Consecutive Interior Angles Theorem
 C Alternate Exterior Angles Theorem
 D Alternate Interior Angles Theorem

 8. If ∠8 $ ∠16, which postulate or theorem justifies that s ∥ t?
 F Corresponding Angles Postulate
 G Consecutive Interior Angles Theorem
 H Alternate Exterior Angles Theorem
 J Alternate Interior Angles Theorem

 9. If s ∥ t by the Alternate Exterior Angles Theorem, which angle pair must 
be congruent?

 A ∠1 and ∠7 B ∠1 and ∠5 C ∠1 and ∠15 D ∠1 and ∠13

 10. If m∠6 = 10x - 6 and m∠11 = 4x + 18, find the value of x so that s ∥ t.
 F 2 G 4 H 12 J 32

a b
s

t

1 2 3 4
6 578

9 10 11
13141516
12

B

A
E

F

K

J

C H

GD
 1.

 2.

 3.

 4.

 5.

 6.

 7.

 8.

 9.

 10.
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A	 2	

8.	 _________	 Determine the slope of the line that contains: 
	

	
9.	 _________ Determine the slope of the line that contains: 

	
 

	  	
	

10.	 _________ 

	
	
	

11.	 _________	 Find the value of x in the figure.  

	
	

12.	 _________	 Determine the slope of the line that passes through the points: 

  
	
	

13.	 _________ Determine whether and are parallel, perpendicular, or neither. 

 
 
 

14.	 _________	
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Chapter 3 54 Glencoe Geometry

3

Determine the slope of the line that contains the given points.

 11. C(1, -7), D(5, 13)
 A -5 B -   1 − 

5
   C 1 − 

5
   D 5

 12. Y(-7, -4), Z(5, 2)
 F 21 G 1 − 

2
   H 1 J 2

 13. Given A(2, 5), B(6, -11), and C(3, 10), which coordinate will make  −− AB  
parallel to   

−−−
 CD   ?

 A D(2, 14) B D(7, 9) C D(11, 4) D D(-1, 9)

 14. Given A(1, 4), B(-2, 5), and C(3, 4), which coordinate will make  −− AB  
perpendicular to  

−−−
 CD ?

 F D(0, 5) G D(2, 1) H D(5, -2) J D(6, 3) 

 15. Which is an equation of the line with slope of -   3 − 
5
   that passes through 

(5, -5)?
 A y - 5 = -   3 − 

5
   (x + 5)  C y + 5 = -   3 − 

5
   (x - 5)

 B y - 5 = -   3 − 
5
   (x - 5)  D y + 5 = -   3 − 

5
   x - 5

 16. Which is an equation of the line with x-intercept 18 and a y-intercept 3?
F y = -   1 − 

6
  x + 3 G y =   1 − 

6
  x + 3 H y = 3x + 18 J y = 6x + 3

 17. Which is an equation of the line containing (-3, 13) and (6, -5)?
 A y = 2x - 7 B y = -2x + 12 C y = -2x + 17 D y = -2x + 7

 18. Mrs. Ekeledo writes computer manuals. She charges $125 to review writing 
specifications plus $50 per hour, h, to write the manual. Which equation 
represents the total fee F that Mrs. Ekeledo earns for writing each computer 
manual?

 F F = 50(h + 125)   H F + 125 = 50h
 G F = 50h + 125   J 50F = h + 125

 19. What is the distance from R to q shown in the figure?
 A   √ # 3  
 B 3
 C 3  √ # 2  
 D   √ # 8  

 20. What is the distance between parallel lines whose equations are y = -x + 2 
and y = -x + 8?

 F 3  √ # 2   G 2  √ ## 17   H 10 J 2  √ ## 29  

Bonus  Suppose line a is perpendicular to line b and line b is 
parallel to line c. What is the relationship between line a 
and line c?

R

x

y

O

q

11.

 12.

 13.

 14.

 15.

 16.

 17.

 18.

 19.

 20.

 B:

Chapter 3 Test, Form 2B (continued)
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3

Determine the slope of the line that contains the given points.

 11. C(1, -7), D(5, 13)
 A -5 B -   1 − 

5
   C 1 − 

5
   D 5

 12. Y(-7, -4), Z(5, 2)
 F 21 G 1 − 

2
   H 1 J 2

 13. Given A(2, 5), B(6, -11), and C(3, 10), which coordinate will make  −− AB  
parallel to   

−−−
 CD   ?

 A D(2, 14) B D(7, 9) C D(11, 4) D D(-1, 9)

 14. Given A(1, 4), B(-2, 5), and C(3, 4), which coordinate will make  −− AB  
perpendicular to  

−−−
 CD ?

 F D(0, 5) G D(2, 1) H D(5, -2) J D(6, 3) 

 15. Which is an equation of the line with slope of -   3 − 
5
   that passes through 

(5, -5)?
 A y - 5 = -   3 − 

5
   (x + 5)  C y + 5 = -   3 − 

5
   (x - 5)

 B y - 5 = -   3 − 
5
   (x - 5)  D y + 5 = -   3 − 

5
   x - 5

 16. Which is an equation of the line with x-intercept 18 and a y-intercept 3?
F y = -   1 − 

6
  x + 3 G y =   1 − 

6
  x + 3 H y = 3x + 18 J y = 6x + 3

 17. Which is an equation of the line containing (-3, 13) and (6, -5)?
 A y = 2x - 7 B y = -2x + 12 C y = -2x + 17 D y = -2x + 7

 18. Mrs. Ekeledo writes computer manuals. She charges $125 to review writing 
specifications plus $50 per hour, h, to write the manual. Which equation 
represents the total fee F that Mrs. Ekeledo earns for writing each computer 
manual?

 F F = 50(h + 125)   H F + 125 = 50h
 G F = 50h + 125   J 50F = h + 125

 19. What is the distance from R to q shown in the figure?
 A   √ # 3  
 B 3
 C 3  √ # 2  
 D   √ # 8  

 20. What is the distance between parallel lines whose equations are y = -x + 2 
and y = -x + 8?

 F 3  √ # 2   G 2  √ ## 17   H 10 J 2  √ ## 29  

Bonus  Suppose line a is perpendicular to line b and line b is 
parallel to line c. What is the relationship between line a 
and line c?

R

x

y

O

q

11.

 12.

 13.

 14.

 15.

 16.

 17.

 18.

 19.

 20.

 B:
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3

Determine the slope of the line that contains the given points.

 11. C(1, -7), D(5, 13)
 A -5 B -   1 − 

5
   C 1 − 

5
   D 5

 12. Y(-7, -4), Z(5, 2)
 F 21 G 1 − 

2
   H 1 J 2

 13. Given A(2, 5), B(6, -11), and C(3, 10), which coordinate will make  −− AB  
parallel to   

−−−
 CD   ?

 A D(2, 14) B D(7, 9) C D(11, 4) D D(-1, 9)

 14. Given A(1, 4), B(-2, 5), and C(3, 4), which coordinate will make  −− AB  
perpendicular to  

−−−
 CD ?

 F D(0, 5) G D(2, 1) H D(5, -2) J D(6, 3) 

 15. Which is an equation of the line with slope of -   3 − 
5
   that passes through 

(5, -5)?
 A y - 5 = -   3 − 

5
   (x + 5)  C y + 5 = -   3 − 

5
   (x - 5)

 B y - 5 = -   3 − 
5
   (x - 5)  D y + 5 = -   3 − 

5
   x - 5

 16. Which is an equation of the line with x-intercept 18 and a y-intercept 3?
F y = -   1 − 

6
  x + 3 G y =   1 − 

6
  x + 3 H y = 3x + 18 J y = 6x + 3

 17. Which is an equation of the line containing (-3, 13) and (6, -5)?
 A y = 2x - 7 B y = -2x + 12 C y = -2x + 17 D y = -2x + 7

 18. Mrs. Ekeledo writes computer manuals. She charges $125 to review writing 
specifications plus $50 per hour, h, to write the manual. Which equation 
represents the total fee F that Mrs. Ekeledo earns for writing each computer 
manual?

 F F = 50(h + 125)   H F + 125 = 50h
 G F = 50h + 125   J 50F = h + 125

 19. What is the distance from R to q shown in the figure?
 A   √ # 3  
 B 3
 C 3  √ # 2  
 D   √ # 8  

 20. What is the distance between parallel lines whose equations are y = -x + 2 
and y = -x + 8?

 F 3  √ # 2   G 2  √ ## 17   H 10 J 2  √ ## 29  

Bonus  Suppose line a is perpendicular to line b and line b is 
parallel to line c. What is the relationship between line a 
and line c?

R

x

y

O

q

11.

 12.

 13.

 14.

 15.

 16.

 17.

 18.

 19.

 20.

 B:
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Chapter 3 45 Glencoe Geometry

3 SCORE 

 1.

 2.

 3.

 4.

 5.

For Questions 1 and 2, refer to the figure.

 1. Which plane is parallel to plane EGH?

 2. Name the intersection of plane ABC and 
plane EFB.

For Questions 3–8, refer to the figure.
Identify each pair of angles as 
alternate interior, alternate exterior, 
corresponding, or consecutive interior 
angles.

 3. ∠2 and ∠10 4. ∠6 and ∠12

 5. ∠1 and ∠5 6. ∠14 and ∠15

Given a ∥ b and m∠7 = 94, find 
the measure of the following angles.

 7. ∠10 8. ∠9

 9. Find the value of the variables in the figure.

 10. MULTIPLE CHIOCE What is m∠UVW?

 A 39 C 81

 B 42 D 138

Determine the slope of the line that contains the given 
points.

 1. E(-5, 6), Z(4, -3) 2. Y(-1, -12), P(3, 8)

 3. B(-2, 7), N(8, -8) 4. R(-5, -7), Q(5, -5)

 5. A line contains the points A(-9, y) and B(-7, -2). Find the 
value of y so the line has a slope of -3.

E

F

B A

K

J

HG

L
MD

C

a

b

1 2 3 4
568

9 10 11 12
13141516

7

dc

(4y + 3)°
(5x - 7)°

(3x + 17)°

a

b

138°
V

U

W
39°

Chapter 3 Quiz 1
(Lessons 3-1 and 3-2)

3 Chapter 3 Quiz 2
(Lesson 3-3)

SCORE 

 1.

 2.

 3.

 4.

 5.

 6.

 7.

 8.

 9.

 10.
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Chapter 3 55 Glencoe Geometry

3 SCORE 

For Questions 1 and 2, refer to the figure.

 1. Identify the intersection of plane SVX and 
plane STU.

 2. Name a segment skew to  −−− WY .

For Questions 3–5, identify each pair of   
angles as alternate interior, alternate 
exterior, corresponding, or consecutive 
interior angles.

 3. ∠2 and ∠12

 4. ∠3 and ∠5

 5. ∠7 and ∠15

 6. Given m ∥ n and m∠8 = 86, find m∠13.

 7. Find the values of x and y given m ∥ n, m∠4 = 6x - 5, 
m∠10 = 5x + 8, and m∠9 = 3y - 10.

Determine the slope of the line that passes through the 
given points.

 8. V(-10, -4), W(5, 5)

 9. A(-2, 9), C(2, -15)

 10. G(-6, 14), L(-3, 9)

For Questions 11–13, determine whether    ! � # CS   and    ! �� # KP  are 
parallel, perpendicular, or neither.

 11. C(1, -12), S(5, 4), K(1, 9), P(6, -6)

 12. C(-5, 6), S(-3, 2), K(-2, 10), P(1, 4)

 13. C(-6, -7), S(-3, -5), K(3, 3), P(9, 7)

 14. Printer’s Ink charges $1.18 per page, p, to copy a report, plus 
$12 to bind it. Write an equation that represents the total 
cost, C, to copy and bind a report. What would be the cost to 
copy and bind a 50-page report?

m

n

s t

1 2
34

65
78

9 10
11

13 14
1516

12

V

S T

U

Z

X W

Y

 1.

 2.

 3.

 4.

 5.

 6.

 7.

 8.

 9.

 10.

 11.

 12.

 13.

 14.

Chapter 3 Test, Form 2C
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3 SCORE 

For Questions 1 and 2, refer to the figure.

 1. Identify the intersection of plane SVX and 
plane STU.

 2. Name a segment skew to  −−− WY .

For Questions 3–5, identify each pair of   
angles as alternate interior, alternate 
exterior, corresponding, or consecutive 
interior angles.

 3. ∠2 and ∠12

 4. ∠3 and ∠5

 5. ∠7 and ∠15

 6. Given m ∥ n and m∠8 = 86, find m∠13.

 7. Find the values of x and y given m ∥ n, m∠4 = 6x - 5, 
m∠10 = 5x + 8, and m∠9 = 3y - 10.

Determine the slope of the line that passes through the 
given points.

 8. V(-10, -4), W(5, 5)

 9. A(-2, 9), C(2, -15)

 10. G(-6, 14), L(-3, 9)

For Questions 11–13, determine whether    ! � # CS   and    ! �� # KP  are 
parallel, perpendicular, or neither.

 11. C(1, -12), S(5, 4), K(1, 9), P(6, -6)

 12. C(-5, 6), S(-3, 2), K(-2, 10), P(1, 4)

 13. C(-6, -7), S(-3, -5), K(3, 3), P(9, 7)

 14. Printer’s Ink charges $1.18 per page, p, to copy a report, plus 
$12 to bind it. Write an equation that represents the total 
cost, C, to copy and bind a report. What would be the cost to 
copy and bind a 50-page report?

m

n

s t

1 2
34

65
78

9 10
11

13 14
1516

12

V
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U

Z

X W

Y

 1.

 2.

 3.

 4.

 5.

 6.

 7.

 8.

 9.

 10.

 11.
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 13.

 14.
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For Questions 1 and 2, refer to the figure.

 1. Identify the intersection of plane SVX and 
plane STU.

 2. Name a segment skew to  −−− WY .

For Questions 3–5, identify each pair of   
angles as alternate interior, alternate 
exterior, corresponding, or consecutive 
interior angles.

 3. ∠2 and ∠12

 4. ∠3 and ∠5

 5. ∠7 and ∠15

 6. Given m ∥ n and m∠8 = 86, find m∠13.

 7. Find the values of x and y given m ∥ n, m∠4 = 6x - 5, 
m∠10 = 5x + 8, and m∠9 = 3y - 10.

Determine the slope of the line that passes through the 
given points.

 8. V(-10, -4), W(5, 5)

 9. A(-2, 9), C(2, -15)

 10. G(-6, 14), L(-3, 9)

For Questions 11–13, determine whether    ! � # CS   and    ! �� # KP  are 
parallel, perpendicular, or neither.

 11. C(1, -12), S(5, 4), K(1, 9), P(6, -6)

 12. C(-5, 6), S(-3, 2), K(-2, 10), P(1, 4)

 13. C(-6, -7), S(-3, -5), K(3, 3), P(9, 7)

 14. Printer’s Ink charges $1.18 per page, p, to copy a report, plus 
$12 to bind it. Write an equation that represents the total 
cost, C, to copy and bind a report. What would be the cost to 
copy and bind a 50-page report?
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Chapter 3 55 Glencoe Geometry

3 SCORE 

For Questions 1 and 2, refer to the figure.

 1. Identify the intersection of plane SVX and 
plane STU.

 2. Name a segment skew to  −−− WY .

For Questions 3–5, identify each pair of   
angles as alternate interior, alternate 
exterior, corresponding, or consecutive 
interior angles.

 3. ∠2 and ∠12

 4. ∠3 and ∠5

 5. ∠7 and ∠15

 6. Given m ∥ n and m∠8 = 86, find m∠13.

 7. Find the values of x and y given m ∥ n, m∠4 = 6x - 5, 
m∠10 = 5x + 8, and m∠9 = 3y - 10.

Determine the slope of the line that passes through the 
given points.

 8. V(-10, -4), W(5, 5)

 9. A(-2, 9), C(2, -15)

 10. G(-6, 14), L(-3, 9)

For Questions 11–13, determine whether    ! � # CS   and    ! �� # KP  are 
parallel, perpendicular, or neither.

 11. C(1, -12), S(5, 4), K(1, 9), P(6, -6)

 12. C(-5, 6), S(-3, 2), K(-2, 10), P(1, 4)

 13. C(-6, -7), S(-3, -5), K(3, 3), P(9, 7)

 14. Printer’s Ink charges $1.18 per page, p, to copy a report, plus 
$12 to bind it. Write an equation that represents the total 
cost, C, to copy and bind a report. What would be the cost to 
copy and bind a 50-page report?
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3

Determine the slope of the line that contains the given points.

 11. C(1, -7), D(5, 13)
 A -5 B -   1 − 

5
   C 1 − 

5
   D 5

 12. Y(-7, -4), Z(5, 2)
 F 21 G 1 − 

2
   H 1 J 2

 13. Given A(2, 5), B(6, -11), and C(3, 10), which coordinate will make  −− AB  
parallel to   

−−−
 CD   ?

 A D(2, 14) B D(7, 9) C D(11, 4) D D(-1, 9)

 14. Given A(1, 4), B(-2, 5), and C(3, 4), which coordinate will make  −− AB  
perpendicular to  

−−−
 CD ?

 F D(0, 5) G D(2, 1) H D(5, -2) J D(6, 3) 

 15. Which is an equation of the line with slope of -   3 − 
5
   that passes through 

(5, -5)?
 A y - 5 = -   3 − 

5
   (x + 5)  C y + 5 = -   3 − 

5
   (x - 5)

 B y - 5 = -   3 − 
5
   (x - 5)  D y + 5 = -   3 − 

5
   x - 5

 16. Which is an equation of the line with x-intercept 18 and a y-intercept 3?
F y = -   1 − 

6
  x + 3 G y =   1 − 

6
  x + 3 H y = 3x + 18 J y = 6x + 3

 17. Which is an equation of the line containing (-3, 13) and (6, -5)?
 A y = 2x - 7 B y = -2x + 12 C y = -2x + 17 D y = -2x + 7

 18. Mrs. Ekeledo writes computer manuals. She charges $125 to review writing 
specifications plus $50 per hour, h, to write the manual. Which equation 
represents the total fee F that Mrs. Ekeledo earns for writing each computer 
manual?

 F F = 50(h + 125)   H F + 125 = 50h
 G F = 50h + 125   J 50F = h + 125

 19. What is the distance from R to q shown in the figure?
 A   √ # 3  
 B 3
 C 3  √ # 2  
 D   √ # 8  

 20. What is the distance between parallel lines whose equations are y = -x + 2 
and y = -x + 8?

 F 3  √ # 2   G 2  √ ## 17   H 10 J 2  √ ## 29  

Bonus  Suppose line a is perpendicular to line b and line b is 
parallel to line c. What is the relationship between line a 
and line c?
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